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Tensao Tensdo Corrente R R/ 8
e Lampada (V) | Sensor (mV) [Lédmpada (A)| (ohms) 00K | T | W )
2 1,0 0,0 0,87 1,149 | 5747 | 1249 | 00 |
3 2,0 0,3 1.4 1,818 | 9,091 | 1840 | 40 &
4 3,0 11 1,28 2,344 | 11,719 | 2280 | 146 |°
5 4,0 2,4 1,47 2,721 | 13,605 | 2582 | 31,7 _
6 5,0 4, 1,66 | 3,012 | 15,060 | 2811 | 556 |
JJ 6,0 6,4 1,83 3,279 | 16,393 | 3016 | 84,7
8 1,0 8,7 1,98 3535 | 1ipi1 | 3207 | 1151 5
9 8,0 {12 213 | 3,756 | 18,779 | 3372 | 1481 ||
10 9,0 13,6 2,24 4,018 | 20,089 | 3506 | 179,9 §
| 11 10,0 16,6 2,38 21,008 | 3519 s
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= jrradiancia
LQID (User) Fit of Sheet1 irradiancia
Mode! LQID (User)
Equation y=al(x"p)
Reduced 95 89872
Chi-Sgr
Adj. R-Square 0.99682
Standard Error
L a 1087,02283
irradiancia p 156175

irradiancia (W/m*2)
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| Distancia |Distancia | Temperatura| Tensdono | Poténcia por

(cm) (m) (oC) sensor (mV) | area (W/m2)
1 0,01 74 5 66,1

11 | 001l 74 5 66,1

12 | o012 74 49 648

13| 0013 74 49 64,8

14 | 0014 74 49 648

15 | 0015 74 49 648

16 | 0016 74 49 64,8

17 | 0017 74 49 64,8

18 | 0018 74 49 64,8

0019 74 49 648

0,02 75 49 64,8

[

0,03 75 49 64,8

[}

0,04 75 48 63,5
0,05 75 47 62,2
0,06 75 46 60,8
0,07 75 45 59,5
0,08 75 42 55,6
0,09 75 4 52,9
01 75 37 189
0,15 76 26 344

!

0,2 76 16

!

0,25 76 09
0,3 76 05
0,35 76

76
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m  Poténcia
Linear Fit of Sheet1 Poténcia

Equation y=a+b'%
VWeight Instrumental

80

70 - |Residual Sum 897188

of Squares
1 Pearson's r 0,99483
44| R-Square 0,58941
Value Standard Error
intercept -474 16018 8,0843
Slope
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_ Medicoes do sensor em mV
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